-

FRESHERS NOW

Model AMI Placement Question Paper

Q1. Write the number of the pair which is different from other pairs:

(a) Head and Cap
(b) Pen and Pencil
(c) Ink and Inkpot
(d) Oil and Lamp

02. 48, 45, 40, 33, 24,

(@) 11, 12
(b) 12, 13
(c)9, 11
@ 13,0

03. Candle is to Sun as is to Sea.

(a) Lagoon
(b) Boat
(c) Pond
(d) Puddle

04. If LPPHGLDWH means IMMEDIATE what does WRSVHFUHW stand for?
(ABCDEFGHIJKLMNOPQRSTUVWXYZ)

(a) MARINATED
(b) STRONGEST
(c) TOPGRADED
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(d) TOPSECRET

05. An aeroplane files twice is fast than a train which covers 60 miles in 80
minutes. What distance will the aeroplane cover in 20 minutes?

(a) 30 miles
(b) 50 miles
(c) 35 miles
(d) 40 miles

Q6. If Monday is to February, then Friday is to?

(a) July
(b) June
(c) May
(d) August

Q7. A lady is 5 years younger to her husband and he is 5 times as old as his
daughter. If the daughter was 5 years old 3 years back, what is the present age of
the lady?

(a) 25
(b) 45
(c) 35
(d) 30

08. If March is to August, then Cis to

(@) G
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(b) 1
(c) H
dJ

Fill in the blanks with appropriate words from the four options:

09. Essence is to Flowers as is to Oven.

(a) Vapour
(b) Steam
(c) Fire

(d) Heat

Q10. Fill in the blank spaces in the series with appropriate choices:

8.19.2,6,5,9,8 12,11, 15,

(a) 13,17
(b) 14, 18
(c) 19, 23
@) 21, 25

Q11. Happy is to Sad as Straight is to

Q12. Point A is located 8 miles South of B and C is located 6 miles West of A. what
is the distance between C and B?

(a) 8 miles


https://www.freshersnow.com/

-

FRESHERS NOW

Model AMI Placement Question Paper

(b) 9 miles
(c) 11 miles
(d) 10 miles

Q13. A man travels 2 miles, turns left and travels 3 miles, turn left again and travel
6 miles. How far is he from the starting point?

(a) 4 miles
(b) 7 miles
(c) 5 miles
(d) 9 miles

Q14. Write the number of the two words which have the same relationships as
Comb and Hair.

(a) Toothache, Tooth brush
(b) Paint and Wall

(c) Boot and Brush

(d) Engine and Petrol

Q15. Rs 2,000 amounts to Rs 2,226.05 in 2 years at compound interest. What will be
the rate of interest?

(@) 5%
(b) 5.25%
(c) 5.5%
d) 6%
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